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The Correlation of TOC Value and COD Value in Textile Dyeing Wastewater

LIN Jing
( Fuizhou Emvironmental Monitoring Station, Fuzhou, Fiyian 350011, China)

Abstract: To study the wrrelation of TOC value and COD value in textile dyeing wastewater and establish their
correlative equation. After mathematical statistic test of significance was undertaken for the detedion value of TOC and
COD, itwas confirmed that there had good correlation between TOC value and COD value in textile dyeing wastewater.
Because of the difference of each productive process and equipment and pollutant discharge, it should establish relative

regression equation when to use the correlative equation.
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